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If f'(x) = x f(x) and f(3) = =5, () 3 o = () 7> 238713

then f"'(3) =
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The curve of the function o> A i
fif(x)=(x—-2)e" is convex upwards T2 (Y-p0)= (o)
inthe interval .................. | e 828l B oY Gaome 55
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Find the equations of the tangent and the go5eally el Fslas sl
normal to the curve: x = sec 8,y =tan 6 Oz o OB= v >l

s
b= T= 0
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EJ Ifsiny + cos2x =0, prove that : REROR At v (|
d’y dy? _ L
—7 ( dx) tany = 4cos?2x secy ol e S
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If x = 2¢3 — 15¢2 + 36t + 1,
y = t2 — 8t + 11, then this curve has a ver-
tical tangentatt = ...........
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I3 For the function f such that
f'(x) = —2x+6, then all of the
following statements are correct

@ The curve of the function f convex
upwards in the interval ]—, o[

The function f has a local
minimum value at x =3

@ The curve of the function f has no
inflection points

f(x) is decreasing in the interval 13,0l
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If ¥ = ax? such that a and b are constants, LN |
1 dy b _ dx W esb ol o b
Prove that =X == - X — Ol esb ol o P
y dt x dt S VIS & BV

B YA YoAV Jo¥1 5guldf - A pold Zclball Adead



YOAMYAY ol yA ALl - 931 5911 - (o 3ulad W1 ASUILY) oLSCiM g (i Laiht - Aoladt Ay 53U Asal 511 ALGH) 3L gs Loniet

E] Find the volume of the solid generated | 0ss o (5 el o2 s

by revolving the region bounded by the sl Bodoall Al
curve ¥ = x% + 2, the x — axis and the Oledl Hemay v + T = 2
two straight lines x = =2, x = 2 I TAREIER S D

a complete revolution about the x — axis. el g J g AalS 8y 90
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If f(x) = x(a — Inx) such that a is constant, | (o~ 53 -P) o = (=) > O 13|
the curve of the function has a critical point | A o O <ol b &
atx =e jthena=.......... | .. POb o= s d > Ak
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A circular sector - like coin whose area | ¢35 glad JSC5 Jo doune dala
is 4 cm?. Find the radius length of the lad Cagal J s sl T £ 2l
sector’s circle which makes its perimeter | (31 alaswe Jasu 53! gl 351
as minimum as possible. What is the sdws 4 o) b3 Loy ¢ Ky o
measure of its angle then?
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Find the area of the region bounded by | o 8wl ddlail d-lie d gl

the curve ¥ = 4 — x? and the straight line [EREE R
y=x+2 \‘+u‘=u¢ij’“ s
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If a” = b* such that a,b € R" , a # b, then
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1 )°, F(x) dx =12, [°, f(x) dx =16, mw@i S5y
then f35 f(X)dx=........... _ (w)>iv
......... =w5(w>>1gp
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Answer one of the following items : oY oAl g e
(A) Find : [ x3 (x2+ 1)%dx o5 (Ve Vw\‘»j 0)
(B) Find : [ (x - 3) e* dx (Y- 1»3\ (w)
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ftan6do=...... | =05 O |
@ —In|cosO|+c LHlgle] - @
(b —In cosb +c a+6h?.;_ @
(© Incosh+c ¢,+8\;.>;J ®
@ lincosO|+c &gl | ®
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T 2x—-Sinx - 7T
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—T x24cos x - > + ¥
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Answer one of the following items : oY oAl g e
(A) Find the local maximum values and o) ezl o sl (1)
the local minimum values of the > A ddodl gl s
function f(x) = x3—3x—2, and the Voo ¥ () S
inflection points of the curve of the o) OIBY! Lais NSy
function (if exists ) (A9 Oy DI
(B) Find the absolute extrema values of Jalladd) g guadl! v.:43\ a1 ()
the function f: f(x) = x(x%2—12)in KW TR\

the interval [—1 ,4]
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